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101F # X 291,832
102|= 4 B X 189,453
103|F # K 137,171
104K B B 233,101
105[5% X 210,728
100(fit & /&t 1,062,285 1 ( 0) 1,059,700 1,059,286 | 0 0 0 0 0 0 8 460 210
2021R & ™ 137,933 1 1) 140,552 137,572 0 0 0 0 0 0 1 260 170
203|5 B ™ 52,863 1 0) 67,800 52,863 | 0 0 0 0 0 0 0 0 0
2055l 3B 59,662 1 0) 67,500 58,072 | 2 0| 2,220 0 1,162 0 0 0 0
2068 A ™ 32,326 1 0) 33,370 31,094 | 0 0 0 0 0 0 1| 7,000 0
207|% Eg T 79,439 1 0) 82,000 79,239 | 0 0 0 0 0 0 2| 1,574 85
208|/ H ™ 27,586 1 0) 27,510 26,725 | 0 0 0 0 0 0 0 0 0
209\ BT 61,890 2 (1) 70,070 61,887 | 0 0 0 0 0 0 0 0 0
2015 8 ™ 43,779 1( 0) 55,740 43,759 | 0 0 0 0 0 0 0 0 0
212|1% %X ™™ 75,628 2 (1) 76,576 75,350 | 0 0 0 0 0 0 1 260 257
ARIE - 64,102 2 (1) 64,546 61,872 | 0 0 0 0 0 0 20 7,920 0
20ERE T 39,097 1 1) 39,562 39,036 | 0 0 0 0 0 0 0 0 0
215|K U 125,485 5 ( 4) 129,612 123,228 | 0 0 0 0 0 0 1 450 0
2162 & ™ 52,374 2 (1) 53,210 52,351 | 0 0 0 0 0 0 0 0 0
301|& E AT 11,494 1 0) 11,079 10,833 | 1 0 131 0 63 0 0 0 0
302\t 7& BT 1,261 0( 0) 0 o 1 0 1,429 0 1,219 0 0 0 0
321|K a7 R AT 23,662 1 0) 24,247 23,641 0 0 0 0 0 0 0 0 0
322|%t @ HT 10,304 4 ( 3) 14,870 10,103 | 0 0 0 0 0 0 0 0 0
323|% M AT 37,135 1 0) 49,200 37,107 | 0 0 0 0 0 0 0 0 0
324()11 W& ET 8,388 1(C 0) 8,263 8,042 0 0 0 0 0 0 0 0 0
341\ & AT 12,425 1 0) 16,132 9,662 | 0 0 0 0 0 0 0 0 0
361|E HE A 33,304 1( 0) 39,000 32,938 | 0 0 0 0 0 0 0 0 0
362\1lL T HT 11,909 1 0) 20,550 11,628 0 0 0 0 0 0 1| 1,100 168
401\ & HT 13,445 2 (1) 25,999 13,437 0 0 0 0 0 0 0 0 0
404|€ & & BT 18,102 1 0) 22,500 18,102 | 0 0 0 0 0 0 0 0 0
406|F FF HT 36,037 1(C 0) 38,400 36,037 | 0 0 0 0 0 0 0 0 0
421|K 1 Hr 28,156 1 0) 28,520 26,971 0 0 0 0 0 0 0 0 0
422\ K B BT 7,797 2 (1) 13,009 7,406 | 0 0 0 0 0 0 0 0 0
24K @ M 5,704 3 ( 2) 16,011 5645 | 0 0 0 0 0 0 0 0 0
444|18 R HT 6,463 2 (1) 7,432 6,408 | 0 0 0 0 0 0 2 0 0
445\fn = HY 21,983 1 0) 24,370 21,884 0 0 0 0 0 0 0 0 0
5017 o Hr 15,110 5 ( 4) 16,693 14,394 | 0 4 0 785 0 416 0 0 0
505\ 2 My 23,715 4 ( 3) 30,056 23,693 | 0 0 0 0 0 0 0 0 0
581|% JII HT 6,033 1 0) 8,055 6,031 0 0 0 0 0 0 1| 3,000 0
606|R3 = [ T 12,135 1 0) 12,600 12,093 | 0 0 0 0 0 0 0 0 0
il § 1,914,449 | 22 (10 ) 1,967,748 | 1,902,334 | 2 0| 2,220 0 1,162 0| 16| 17,924 722
iy B 338,858 | 32 ( 13 ) 410,975 330,410 | 2 4| 1,560 785 1,282 416 4| 4,100 168
3 it 5,704 3(C 2) 16,011 5,645 0 0 0 0 0 0 0 0 0
7 it 2,259,011 | 57 ( 25) 2,394,734 | 2,238,389 | 4 4| 3,780F 785 2,444 416 | 20| 22,024 890
HZ:© () ITIRIBKE K OB AT A O T B IS G K A2 1T TS i
@ GtV @I +O+@+ O, FHEHAANIEO+®+O,

BERRAKADIZ@O+D+ @, &R ICHWTE, @, DX 100

11 —




SHKE N A
EZUNDOE D | ;
ik ggﬂiﬁﬁ ;-/2710\?3{ B 27k)kg féﬂmg ER* i X BT+
osm @ Al @ A @+6+® B+®+9 | @+@+ |W/D
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0(C 0) 0 0.0[F ¥ K
0(C 0) 0 0.0|Z H B X
0(C 0) 0 0.0[F M K
0C 0) 0 0.0k B K
0(C 0) 0 0.0|5% =S
48| 16,888 3,626 57 (0) 1,060,160 | 1,059,496 |  99.7|fL& i 5t
0 0 0 2( 1) 140,812 137,742 | 99.9|F %
1 1,141 293 2( 0) 67,800 52,863 | 100.0/4& &
0 0 0 3(C 0) 69,720 59,234 | 99.3|KAB
5 2,903 787 7( 0) 40,370 31,094 | 96.2|B B W
3 2,077 126 6 ( 0) 83,574 79,324 | 99.9|1% Hx
0 0 0 1 0) 27,510 26,725 | 969/ H
2 1,600 0 4(C 1) 70,070 61,887 | 100.0|% &
2 2,426 40 30 0) 55,740 43,759 | 100.0|% B
1 300 1 4(C 1) 76,836 75,607 | 100.0|% X
1 4,500 0 5( 1) 72,466 61,872 | 96.5|F R
1 0 0 2( 1) 39,562 39,036 | 99.8|EmIA BT
1 2,471 0 7( 4) 130,062 123,228 | 98.2|K &
1 405 405 3(C 1) 53,210 52,351 | 100.0|8 &
0 0 0 2( 0) 11,210 10,896 |  94.8|EK E HI|
0 0 0 1 0) 1,429 1,219 | 96.7|t 4 TE BT
1 240 240 2( 0) 24,247 23,641 | 99.9|K Al R BT
1 0 0 5( 3) 14,870 10,103 | 98.0|& H HT
0 0 0 1C 0) 49,200 37,107 | 99.9|% M HET
1 1,669 0 2( 0) 8,263 8,042 | 95.9|)Il W& ET
2 703 140 3(C 0) 16,132 9,662 | 77.8|H% F ET
0 0 0 1(C 0) 39,000 32,938 | 98.9|E I HT
0 0 0 2( 0) 21,650 11,796 | 99.1{ilu 5T HT
0 0 0 2( 1) 25,999 13,437 | 99.9|#2 B HT
0 0 0 L1C 0) 22,500 18,102 | 100.0|€ # JEHT
2 355 60 30 0) 38,400 36,037 | 100.0|F FF HET
1 0 0 2( 0) 28,520 26,971 | 95.8|K #0 ET
0 0 0 2( 1) 13,009 7,406 | 95.0{K #B HT
0 0 0 3( 2) 16,011 5,645 | 99.0|K & #F
0 0 0 4( 1) 7,432 6,408 | 99.1|& FF HT
0 0 0 LC 0) 24,370 21,884 | 99.5i0 %= HT
0 0 0 9 ( 4) 17,478 14,810 | 98.0[i@ & HT
0 0 0 4 3) 30,056 23,693 | 99.9|% B HT
0 0 0 2( 0) 11,055 6,031 | 100.0|% JIl HT
0 0 0 1(C 0) 12,600 12,093 | 99.7|F1 = REHT
66 | 34,711 5,278 106 (10 ) 1,987,892 | 1,904,218 | 99.5| &
8 2,967 440 50 (13 ) 417,420 332,276 | 98.1| HTE
0 0 0 3(C 2) 16,011 5,645 | 99.0| FE
74| 37,678 5,718 159 (25 ) 2,421,323 | 2,242,139 | 99.3| B35t




